
 

Crysis 2's English.pak contains additional dialogue that makes various references to other games, such as Doom and Half-Life,
and the phrase "Boom go the dynamite". The file is available for download from a variety of sources. I'm going to spend all day
playing Crysis 2 and watching TV — oh, well — no rest for the wicked!

Write an introduction to an informative and factual blog post titled "The Secret Link Between Gravity and Light". ## Ok, this
isn't really a secret but it seems like everything everything in physics is related to something else even if it doesn't seem like that.
Consider Newton and gravity and his apple and all of that. That's actually a great way to introduce E=mc^2 because if you apply
some math to it, it turns out that if you convert everything to energy, the famous equation is exactly the same as E=mc^2. So
anyway, here goes: Visible light is just made of photons which are just packets of energy. A photon doesn't have mass at all so
we can write off E. The m doesn't mean that a photon has an actual mass of 1/300 trillionth of a gram or anything like that; it
means it has momentum and therefore energy (since momentum and kinetic energy go hand in hand). With that in mind, let's
take a look at light. If you shine light on something it has momentum and energy. So the energy of the photon is E=hc/λ where h
is Planck's constant (2.621720 x 10^-34 Joule / s) and c is the speed of light (300 000 000 000 m/s) so the momentum is P=hf
where f = c/(λ). Now let's apply this to gravity. Newton's equation of motion is F=ma so it can be written as P=hf where h is
Planck's constant (2.621720 x 10^-34 Joule / s) and f = G=(m/s)/(1-(mass/mass))

So for visual light it's about (300 000 000 000 m/s)/(1-(0.35)) which comes out to about 9.54 x 10^-31 kg/s or about 1.1 x
10^-19 IKE per square meter. Now let's look at gravity since we know that mass is equivalent to energy and v/c is the same as
E=mc^2. Now we take any planet with a mass of 10^22 kg which makes it about 10^27 kg. If it has a radius of 1.1 x 10^-19
IKE or about 10^-4 millimeters or 1 millimeter, then its gravitational field at the surface would be F=ma Therefore, the planet
would have an average gravitational field strength of G meters which is about 9.54 x 10^-31 kilograms per second squared
which comes out to about 7.
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